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OsMOIEE21 MU 22308 KXY
200,000 200
O=22s=d Sl 8,000& x5 »352 1,400
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OOIEXEE = 80,000& 80
OO0l & Xt = Xl gl 50,000& 50
OO0l EX =4I 20,000& «x12& 240
203 R =&t 5,000 5,000 0
03 A F=AH R =ZH| 5,000 5,000 0
O=02s g4dst 5,000,000& 5,000
301 et A Z 2,400 2,400 0
09 &AL HIZB &S 2,400 2,400 0
O&= MOISXEZA sl Gl
120,000& »20H 2,400
307 21201 A 228,600 224,600 4,000
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02 ItFAAHEX 123,890 121,890 2,000
OMDOtsE2 29 XI& 20,500,000& 20,500
OMOts2ss7XNs YA & X 43,000
cMOtE2s3 72X SAAY X2
33,000,000& 33,000
oMOIESXE X otAH=U3 X
10,000, 000& 10,000
OtHt2AAII2s=8€2As UMY N
17,290, 000& 17,290
ONREAUESZRE SAAY XA
25,400,000& 25,400
O=7&8dEdgs s9dAd XI& 12,700,000 12,700
ONHESESTE2AS BAAY XA
5,000,000& 5,000
03 BIAHNHE2IHIEL 104,710 102,710 2,000
OMOtS2ss+Ns 224l 42,000,000& 42,000
OMOIS2sS A MREXQH o124l S
A& 24,000,000& 24,000
Al 12,000
- 12,000
ottEialI2ss2 ANz 23|
14,710,000& 14,710
Ots&EHdUY=2Aa 24l 24,000,000 24,000
Al 12,000
- 12,000
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MOISXIEX AE 283 A3 (D)
24,393,600 24,394
Al 12,197
- 12,197
AlEEA 2 IxEN ZE 1,050 1,050 0
303 E & 1,050 1,050 0
01 A2 1,050 1,050 0
ASEDN 2425 AlY 1,050
oXel EEAM(MEAM) 600,000 600
o881 242 AN (BHEAM) 350,000& 350
oXMHMe LEEMHIMEA) 100,000& 100
A4 =z 84 563,650 453,954 109,696
J| 95,072
Al 58,912
- 409,666
M= &4d3) 563,650 453,954 109,696
J| 95,072
Al 58,912
- 409,666
MNEARE HHIE &9 101,418 102,268 A 850
301 et A= 101,418 102,268 A 850
V=L - 2SsE2S242 101,418 102,268 A 850
Ox=gdIe 24 101,418
o232 (73 1182) 2,692,400 x 18 x12& 32,309
o223 (738 958 2) 2,520,500 x1¥ x12& 30,246
oH24Y(72 115E)
32,308,800 x1/12% 12 x25% 674
cYHEIIH (73 1152)
32,308,800 *1/12%120% 3,231
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30,246,000 *1/12%120% 3,025
oZd4d 100,000 2 x12& 2,400
o g &H| 130,000& »2H x12& 3,120
oS =H| 100,000 x2H x12& 2,400
o &g 1,000,000 *2&H «13] 2,000
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o 2l Badl 300,000& *23| x2H 1,200
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OdEI| ot E 23 425,000& x12&8 5,100
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OANEH NS d2Uz FIHXH
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OAIZHH HOIE=CHal &IJHXI&  1,670,000& 1,670
OR4ANBH=HE &IHAIE 15,300, 000& 15,300
OSAA MU X
1,500,000 1,500
ORUA A MEMSUHE I
1,500,000 1,500
OY&Chel 2t Uhse Z2Ilths X&
10,000, 000& 10,000
T2 MEHs XH 88,200 10,200 78,000
201 et 200 200 0
01 At 22l 200 200 0
OMEHFIIE AR 20,000& +10& 200
203 YR =&l 10,000 10,000 0
03 Al F=XH R =AH| 10,000 10,000 0
Odex=adst 10,000, 000& 10,000
401 Al HIZ 2018 43,000 0 43,000
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OsFeLNS2 24FIE Fl
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Al 12,900
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307 glz2+ol & 32,467 32,467 0
Al 12,900
T 19,567
05 RIZt2IEt = 32,467 32,467 0
OdeENsuns 29 16,667,000& 16,667
Al 5,000
- 11,667
O0elldsna 3,600,000& 3,600
Al 1,800
T 1,800
OFAENE A 3,200,000 3,200
Al 1,600
- 1,600
OF=HsUHE 3,600,000& 3,600
Al 1,800
- 1,800
OF5Z M dEHs &ad2d 5,400,000& 5,400
Al 2,700
- 2,700
2= d=ss XA 55,000 50,000 5,000
Al 27,500
- 27,500
307 21201 A 55,000 50,000 5,000
Al 27,500
- 27,500
02 IZtE S AHE L 55,000 50,000 5,000
o=z H=s XA 55,000,000& 55,000
Al 27,500
T 27,500
UBTMET SN X (B2SXH) 80,424 76,824 3,600
J| 40,212
- 40,212
307 glz2tol & 80,424 76,824 3,600
J| 40,212
T 40,212
05 RIZHRIEt 3 80,424 76,824 3,600
OMEMsX =Xt B XI 80,424 ,000& 80,424
J| 40,212
T 40,212
HEMMENSXEX WX (2SXE) 53,616 51,216 2,400
J| 26,808
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- 26,808
307 2iz2to| A 53,616 51,216 2,400
J| 26,808
- 26,808
05 QIZ2tREF 2 53,616 51,216 2,400
OWEAMES X =X B X 53,616,000 53,616
J| 26,808
- 26,808
bt - HE2AN MEHMAZA ALHA 12,500 0 12,500
Al 12,500
307 QI2t0| & 12,500 0 12,500
Al 12,500
05 QIZIREZ 12,500 0 12,500
OBt - HEad MESHSAEZAH AL2MH
12,500,000 12,500
Al 12,500
AXAI0IEAH XA 40,075 38,051 2,024
J| 28,052
Al 6,012
- 6,011
307 gizto| A 40,075 38,051 2,024
J| 28,052
Al 6,012
- 6,011
05 QIZtRES 40,075 38,051 2,024
OAZ=AX0I=HAY 40,075,000 40,075
J| 28,052
Al 6,012
- 6,011
=SR0 MEHsMHE NI XH 30,000 30,000 0
307 212t0| & 30,000 30,000 0
02 DIZHEAAIE E X 30,000 30,000 0
OZFEEH MEHSUHE 23,000,000 23,000
OZFHM=I & MEMSUHI 7,000,000& 7,000
N2 A DB = 148,149 144,352 3,797
= 25,638
Al 29,076
3 93,435
Na=2ANE 148,149 144,352 3,797
= 25,638
Al 29,076
5 93,435
XSS AHHE X 85,745 80,604 5,141
Al 20,948
- 64,797
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307 glz2tol & 85,745 80,604 5,141
Al 20,948
- 64,797
05 RIZHRI & 3 85,745 80,604 5,141
ONASAHEH 299 85,745,000& 85,745
Al 20,948
- 64,797
NRASAELS T2 e 11,128 11,000 128
Al 8,128
T 3,000
307 glz2+ol & 11,128 11,000 128
Al 8,128
T 3,000
05 RIZt2IE = 11,128 11,000 128
OLZZ e WY At HI 11,128,000& 11,128
Al 8,128
- 3,000
A SAE 2CUOIH XY - =4 46,896 47,038 A 142
= 23,448
- 23,448
307 21201 A 46,896 47,038 A 142
= 23,448
- 23,448
05 BIZHRIE 3 46,896 47,038 A 142
OXaSAt 2CIUIOIEH X& 46,896,000 46,896
= 23,448
T 23,448
d= S8 NASAEE It Muls XI& 4,380 5,710 A1,330
= 2,190
T 2,190
307 glz2tol & 4,380 5,710 A 1,330
= 2,190
T 2,190
05 RIZHRI &t 3 4,380 5,710 A 1,330
OXNEASA EEE 4,380,000& 4,380
= 2,190
T 2,190
T2lo otMEh ME 2 31,000 29,150 1,850
oM EH R0l ME BXHS & XA 31,000 29,150 1,850
obl=z S4X& 28,000 26,000 2,000
403 XSS =0l & 28,000 26,000 2,000
03 M2z XNANEEX 28,000 26,000 2,000
OouldlzZ =0 XA 28,000
c4UHOH ol 4 XA 28,000,000& 28,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HI & AEHCHEI DS R X 3,000 3,150 A 150
201 £B-2d| 3,000 3,150 A 150
01 At 22l 3,000 3,150 A 150
OXtH ES2H= M= 20,0002 x302+5Z& 3,000
ZE2S4 HEAMHA ME 2 =t 2= 614,956 509,010 105,946
dES4 NMHIA 2Zst 614,956 509,010 105,946
28U ANE R, 2l 133,414 122,614 10,800
201 £B-2dH| 133,414 122,614 10,800
01 At 22/ 6,445 6,445 0
OYLIY AXE 4,000
CEEY U ORBA YETH YR
1,000, 000& *43| 4,000
OZAESI 223 790
oA X 20,000 55 A 100
cEULIECX 115,000& =64 690
Ogsa 340 13,000& 10 130
OFBSHadE M2AHAA 25,0003 x5& 125
OHESUNUIRFA =gH  8,000&«5H 35 1,400
02 3322l 126,969 116,169 10,800
OZESH 323 90,358
oML ANRI(COAT)
80,000& *603] & «12& 57,600
cdBtMSt JIE2RS 4,000 853 & «12& 4,080
o3AZAMHIA 7,000&x12& 84
cME3H(T/D) AIBZ
23,0003 213 & *128 5,796
oAl Az R AMES 300
=z 28,000& 53] M 140
CAMNES 16,000 =501 23 160
ocsUds B Z 70,0003 «5CH 128 4,200
o CATV A = 13,200& 4401 128 6,970
SSMSE XNHIAIR ¥&= 900,000& »12& 10,800
oMHHH RILSES AMEZ
22,0003 2CH*12& 528
OA&EHl Sl 36,611
oRAUHARWEI (2) 169,013, 000& *8% 13,522
oRUARREI(SFUMEH)
43,000,000 *8% 3,440
o2 8 IPHE S| (5500H) 94,600,000 *3% 2,838
o2 E(5H)IPESII(500H)
17,150, 0002 *3% 515
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M HESH HYUMHA M3 € elZet 25
Chol: MRS AHIA Yal S H@)
S B G(SA) - NRANY - BES il 2
onZ (et IPAE3I(300h)
26,550,000 *3% 797
o ZAE S| 958, 300& *3% 29
oMz eEH 23,210,000 *4% 929
cWUANE HE 5,500,500& *3% 166
olisloa & 88,048,210 *5% 4,403
o= HEMZAH 8,668,000 *3% 261
S SMSE S Al A 28,205,210 x5% 1,411
oRULSAH ot MR S)
1,500, 000& *24! 3,000
cRFIMHA 15,333,000 *5% 767
cRIMMA 17,359,000 *5% 868
oM XS =5t 73,290,000 *5% 3,665
FESAMAAE M 2 DES 13,000 0 13,000
201 Lur2 bl 4,000 0 4,000
01 At 22l 4,000 0 4,000
OMSdEHA ctolaAa 2 4,000,000 4,000
405 TtobFH S 9,000 0 9,000
01 AL EZFE 9,000 0 9,000
OIINLEE 9,000,000 14| 9,000
CCTVEAItE G 2= 81,564 62,936 18,628
201 et | 31,064 22,936 8,128
02 2324gHl 31,064 22,936 8,128
OAEZHl |X 10,532
oYHE CCT 192,228,000 *5% 9,612
oHU ZHECCTV 18,390, 240& *5% 920
O23R3 &= 20,532
osldz 88,0003 182 & «12& 19,008
&Iz 7,000 *160 2128 1,344
oHl &% SlHZ 5,000& *30 2~ +128 180
401 AIEHI L 2T bl 50,500 40,000 10,500
01 A& HI 50,500 40,000 10,500
OCCTV =t &X 1,000,000& «40CH 40,000
OCCTV LED SFLHEXI & & X 350,000 *300H £ 10,500
2S¢ UAMHIA 2,249 2,249 0
201 Let2dE] 2,249 2,249 0
01 At 22l 1,200 1,200 0
OAMESHEZ ALEHI 1,200, 000& =14 1,200
02 =24l 1,049 1,049 0
OArZEZALEH 34,935,000 *3% 1,049
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SAFEDNEEZ 2F 10,354 50,479 AN40,125
201 £B-2d| 10,354 8,479 1,875
02 =224l 10,354 8,479 1,875
ORMIBENEEZ 23| 10,353,650 10,354
CCTV Se2HdEH 29 374,375 270,732 103,643
101 @144 dl 263,370 202,427 60,943
04 JIZtHZ2XREES 263,370 202,427 60,943
oggs CcCTv 263,370
S = 71,8373 14 200 201,144
o224 71,8373 x50%* 14 »60 30,172
oEXNZEUE 300,000& x12H 3,600
cHEHNNUS 300,000& x12H 3,600
oMEUdg B 24,854,000 24,854
201 LBt | 50,605 50,605 0
01 At 22l 6,250 6,250 0
OSE2NEH 2EAde 4+
70,0002 ¥52 +23| 700
OSg2H4dH 294l 200,000& »12& 2,400
OFQetdMwa 29| 150,000& 62 900
ONEZUAH 2orS/W2 e (2toldlA)
450,000& x54! 2,250
02 =24l 44,355 44,355 0
OA&ZEHl |Xdl 44,355
oCCTVE S 2 M AIE Al AE(H/W)
707,086,000 *5% 35,355
oCCTVE S 2 M AIE Al AE(S/W)
75,000,000 *12% 9,000
401 Al HI L 20l 60,400 17,700 42,700
01 A& HI 60,400 17,700 42,700
OCCTV M&HHI(AERIX) &4 60,400
olA3(9T8) =& 52,800,000& » 14! 52,800
cPIZ22XH 7,600,000 » 14! 7,600
HH2AAY (Z2W) 32,231,908 31,999,955 231,953
2 83,700
Al 297,568
T 31,850,640
ol 2 gl 31,933,073 31,705,302 227,771
= 83,700
Al 297,568
T 31,551,805
SR ERAY 2 2l 31,006,894 30,943,976 62,918
Al 297,568
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 30,709,326
101 1244 dl 23,970,128 23,485,375 484,753
Al 297,568
- 23,672,560
01 2= 23,970,128 23,485,375 484,753
oss 17,515,153
clEZH d=E3(REFE) 93,699,000 93,699
ocHIESR HES(42) 87,373,000 x5H 436,865
odI=H HE8=(53) 77,387,000% 31 2,398,997
ocs=g 14,585,592
6= 3,854, 100& x130H 123 6,012,396
= 5,071,770
- Bt 2,997 ,500& x130H 123 4,676,100
-AEEX HY TR
2,997 ,500& *x11H+12& 395,670
Al 297,568
= 98,102
- 88 2,009,200& x100H x12& 2,411,040
9= 1,652, 1003 55 x12& 1,090,386
OFSE=E=, 14,585,592,000& *1/12 1,215,466
OANzAZRLE(22E) 1,274,000
S= 11,4013 x 102 «34A| 2t 123 474,465
o7= 10,2993 x95H «34 Al 2+ x 122 399,190
=8= 9,246 *70H +34 Al 2tx 128 264,066
°9= 8,357 *30H 34 Al 2t 123 102,290
oMM (YA NS RIIAL)

10,2993 x2H «80Al 2t 12& 19,775

co MM RA(EH A
10,2993 « 1H «55A| 2t « 128 6,798

oo MR (25 XHI|AL)
10,299& « 1H +60Al 2t 128 7,416
OFSE s, 1,614,812
CIIExE 316,800
HH < Kt 40,0003 «350H «128 168,000
CIPE R MAA 20,0003 x250H 123 60,000
=M AH 60,0003 x90H x128 64,800
KSUTH XA 100, 000& »20H «12& 24,000
oS ExsY 112,392
SshM 468,300& *60LH *4 3| 112,392
oF0IFHSE 1,500,000& *15H x12& 270,000
ocdI2xEItls 373,200
254 0] & 130,000& x105H x12& 163,800
20 0] &f 110,000& 80 »12& 105,600
154 0] & 80,0003 30 x12& 28,800
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- 10 O] & 60,000& x50 x12& 36,000
- 5 0] & 50,000& 65 x12& 39,000
oE 224 H 22,800
= 50,000& «10¥ x12& 6,000
HE 40,000& x35H x12& 16,800
coHTeALY 50,0002 * 152 * 122 9,000
cHRTRALY
14,585,592,000& *4 . 1%*2/5 239,204
oJdlsdEsY 31,800
52 0] & 50,000& *3¥ x12& 1,800
6=~73 30,000& x50 x12& 18,000
- 8= 0|6t 20,000& x50H x12& 12,000
cllsdBELSEIIAS 27,360
- JIAb 30,0003 x61H x12& 21,960
MHAIAF Y X2
20,000& x17H x12& 4,080
ANgS™E 10,000& x11H ~12& 1,320
cQIAARL LG 50,000& x38H x12& 22,800
ofeixd 130,000& x4H «12& 6,240
o Ol Al & 7,800
52 80,000& x2H x12& 1,920
62 60,000& x4 x12& 2,880
720l 50,000& x5 =128 3,000
ol zgdRSoxE 35,256
SRA(HMEI) 909,000 »2H x12& 21,816
R AY 70,000& x1H ~12& 840
- 2sAd 50,000 «10¥ x12& 6,000
Ol 2 J| At 50,0002 x6H x12& 3,600
4= O| A} 250,000 x 18 x12& 3,000
os2fsY 70,000 x82H x12& 68,880
oAMEEXNER4E 70,000& 60 x12& 50,400
oABl=XYR LS Jara
30,000& x38H x12& 13,680
oM 200,000 »3H x12& 7,200
OYol - ZIIE &L 200,000, 000& 200,000
OXHZAH(F2H) 130,000 332 »12& 517,920
(@)= FSE=) ] 14,585,592,000& x1/12%120% 1,458,560
OH I Albdl 174,216,800& 174,217
204 = 2 4= A H| 594,600 637,500 AN 42,900
02 &= & xH| 594,600 637,500 N 42,900
OxXZEXH(REEH) 594,600
oRHE 500,000& x1H x12& 6,000
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
oI 450,000 x1H =123 5,400
SX= 400,000& »4H «12& 19,200
o5z 250,000 20H «12& 60,000
S 155,000& x105& x12& 195,300
S 140,000 x90H «12& 151,200
=8=~932 125,000& x105H 123 167,500
303 &3 1,486,028 1,372,350 113,678
02 dta0i= 1,486,028 1,372,350 113,678
Oduan= 1,486,028,000& 1,486,028
304 H=RE=SS 4,956,138 5,448,751 AN492,613
01 H=RE= 4,046,699 4,629,545 A 582,846
Od==E= 27,365,659,000& *8.75% 2,394,496
OMo24 2= 27,365,659,000& 0. 192% 52,543
o2& 3 27,365,659,000& *2.301% 629,684
Ofl A= 2= 27,365,659,000& *3.5445% 969,976
02 =222 2E= 909,439 819,206 90,233
O=pIABLE Y3
26,220,888,000& *3.23% 846,935
OLIIIQAEE RE=
846,935,000& *7.38% 62,504
AR U2 XA (E2X) 92,220 16,999 75,221
2 10,000
T 82,220
101 @124l 92,220 16,999 75,221
2 10,000
- 82,220
01 2= 92,220 16,999 75,221
OWFASR e BHl XI& 92,220,000& 92,220
= 10,000
T 82,220
NEZHSEMRBANE EX 208,673 33,955 174,718
= 31,700
- 176,973
101 1Al 208,673 33,955 174,718
= 31,700
- 176,973
01 2= 208,673 33,955 174,718
OJNEHAHASEMRHE ZH X
208,672,600& 208,673
= 31,700
T 176,973
Atz =Xels elAdl XI& 60,000 150,000 A 90,000
= 42,000
- 18,000




SN B2
M HH2IZH(SR)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 60,000 150,000 A 90,000
= 42,000
- 18,000
01 2= 60,000 150,000 A 90,000
o=s 60,000
cs8=(83) 60,000
FOHH 2 SIUSXXNIA 22(16. 7
) 30,000,000& 30,000
= 21,000
- 9,000
S FQME Y SIASXNNNAE E2(17. 7
) 30,000,000& 30,000
= 21,000
- 9,000
FEZE "2 422,281 401,178 21,103
101 @124l 422,281 401,178 21,103
02 JIEt A2+ 422,281 401,178 21,103
o¥azz 422,281
SR A= 3,793,500 x6H x12& 273,132
oc¥ 2 273,132,000& *1/12 22,761
cEXN2LLY 37,829
NEEEEENE
11,2143 «5H «40A 2t 128 26,914
Ort22 % 3,7383+BAI 2H+1H »365L 10,915
ctEd 4,320
- B Xt 40,0003 »4H 128 1,920
22 - 14 20,0003 x10Y¥ 128 2,400
oclUHEHEXSY 3,747
NSshM 468,300& x2H x4 3| 3,747
ocdI2x=EItl=s 9,360
254 0] & 130,000 x6H 123 9,360
oXFHdE 30,0003 x1H«128 360
o Z A GAH 130,000 x5 128 7,800
o FE S I 273,132,000 *1/12%120% 27,314
odIIE AHl 273,132,000 *1/12%0.86%5/30 3,263
oA gE x| 140,000 x5H x12& 8,400
o8& sl 50,000& x5 123 3,000
oAz 20,995,000& 20,995
SIIHY 22X A2 Y| 143,005 159, 194 £ 16,189
101 @124 dl 143,005 159,194 A 16,189
03 RIAHAZ 2B+ 143,005 159,194 A 16,189
ORza 22(278IA) 44,046
=lleg 2,555,000 x1H «12& 30,660
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SN B2
Mz HMSAHH(EL2)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o HHFAH| 130,000& x1H x12& 1,560
cIIE+Y (IR AH) 40,000 x1H x12& 480
cIIELY(XH) 20,000& x2H x12& 480
oA FItY| 2,555,000& *80% 2,044
oI ANZ 1,991,030& *50% 996
oANZAHAIZELE 13,0003 *150%*220 Al 2¢ 4,290
cHIR=RZ Y 13,000& *8A| 2+ %22 2,288
oxIZF Sl 8,000& x 1A/ x132 x12& 1,248
OBxs4A 22(=2F4) 40,843
PR = 2,408,960 x1H »12& 28,908
o ZHZAH| 90,000& *x1H x12& 1,080
o HAE S| 2,408,960& *80% 1,928
oMdANHZ 1,871,200& *50% 936
o N2 E4E 12,290& *150%*220 Al 2+ 4,056
cHIFR=FIIY 12,2903 *8A| 2Fx20L 1,967
oxIU2F SEHI 8,000& x 1A/ x13 x12& 1,248
cIIE =< (AL 40,000 x1H +x12& 480
cIJIEE(XYH) 20,000& x1H x12& 240
O=0dzZ2 32 275,094,790 *4 . 5% 12,380
O=0H2AEEEHZ 331,395,790& *3.23% 10,705
OLQ&EIQABHLEZ 10,704,000 *7.38% 790
Oonsggaed=z 634,215,790& *1.5% 9,514
(OFAPUR=R=Ra= = 603,676,790 *0.783% 4,727
OZ34MX =l 10,000,000& 10,000
O=xg Az 10,000, 000& 10,000
Jl=23Hl 298,835 294,653 4,182
A28 298,835 294,653 4,182
201 et A | 17,820 17,253 567
01 AFR2 2t 2l Yl 17,820 17,253 567
OEM&Y I8l 279,000& *36H 10,044
OJl2gd2+8 2 =Hl 8,000 *3Ax27H x12& 7,776
202 (4] 106,080 102,960 3,120
01 2L Y| 106,080 102,960 3,120
OJI2g2+8 oyl 260,000& x34H x12& 106,080
203 Y2 E X Y| 130,535 130,040 495
01 J|229 P RE=XY| 102,300 102,300 0
o8& 58,300,000& 58,300
ORFAEE 40,700,000& 40,700
OE2=2% 3,300,000& 3,300
02 HRJAE R =&Y 22,655 22,160 495
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SN B2
HE: HYRYFH(BRD)
el JI=23Hl
x = - 4 14
SN FH-SA(EN) - MBAY - BES 0l &k o4 e
0533 XN 8 AFAMINMA(F2E)
(80,0003 *100Z )+(60,000& *200 )+(45,000 22,655
214599 )
04 EA2IYRFLH| 5,580 5,580
ORNERSY
(400,000 +(5,000& 13 ) ) 12& 5,580
204 X4 A b 44,400 44,400
NEEEEEEYEEL] 44,400 44,400
OXNMIARLHAY (T2E) 44,400
oRHE 650,000 x1H <123 7,800
cRRFE 400,000& 18 «128 4,800
o=2F(42) 350,000& 3 «12& 12,600
oa ME(52) 100,000& 16H 128 19,200
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